
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8

10
12

15

20

25
30

40
50

75

100

150

250

500

1000

Effect size (d)

P
ow

er

 = 0.01, 1-tail, 1 mean



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8
10

12
15

20
25

30

40
50

75
100

150

250

500
1000

Effect size (d)

P
ow

er

 = 0.05, 1-tail, 1 mean



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8

10

12

15

20

25
30

40

50

75

100

150

250

500

1000

Effect size (d)

P
ow

er

 = 0.01, 2-tails, 1 mean



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8

10
12

15

20

25
30

40
50

75
100

150

250

500

1000

Effect size (d)

P
ow

er

 = 0.05, 2-tails, 1 mean



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8

10
12

15

20

25
30

40

50

75

100

150

250

500

1000

Effect size (d)

P
ow

er

 = 0.01, 1-tail, 2 means



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8
10

12

15

20

25
30

40
50

75
100

150

250

500

1000

Effect size (d)

P
ow

er

 = 0.05, 1-tail, 2 means



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8

10
12

15

20

25

30

40

50

75

100

150

250

500

1000

Effect size (d)

P
ow

er

 = 0.01, 2-tails, 2 means



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.40

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

n=8

10
12

15

20

25
30

40

50

75

100

150

250

500

1000

Effect size (d)

P
ow

er

 = 0.05, 2-tails, 2 means


